1. M5
[E&%=1, 481]

B 43.2

z = = =

1K t t &l

FEEEH &

TE:%

o=t 1, 481 639 821 21
100. 0 43. 2 55.4 1.4
171 71 98 2
Atz 100. 0 41.5 57.3 1.2
217 99 116 2
Bithiz 100. 0 45. 6 53.5 0.9
197 75 118 4
Ctthizl 100. 0 38.1 59.9 2.0
276 122 153 1
Diftig 100. 0 44, 2 55.4 0.4
97 38 58 1
Ede iz 100. 0 39.2 59. 8 1.0
283 117 159 7
Fithist 100. 0 41.3 56. 2 2.5
240 117 119 4
Githizt 100. 0 48. 8 49. 6 1.6




i

25%

20%

15%

10%

5%

(E&#=1,481]

23.1%

19.2%

14.7%

18.6%

| 9.7%

13.9%

0.7%

s 2 3 4 5 6 7 =

& 0 0 0 0 0 0 =]

= £ & | /& | & | /& | u

st 1, 481 144 218 275 206 342 285 11
=B 100. 0 9.7 14.7] 186 13.9] 23.1] 19.2 0.7
171 20 30 30 27 39 25 0
Al 100.0 | 1.7 17.5] 17.5] 15.8] 22.8 ] 14.6 0.0
217 23 25 42 29 51 46 1
Bl 100.0 | 10.6 | 11.5] 19.4 ] 13.4] 23.5] 21.2 0.5
197 25 30 44 22 41 33 2
Cibisl 100.0 | 12.7] 15.2 | 22.3] 1.2 20.8] 16.8 1.0
276 24 44 46 36 67 57 2
Ditbisl 100. 0 8.7 159 16.7] 13.0] 24.3] 20.7 0.7
97 7 18 18 14 19 21 0
Edthist 100. 0 7.2 186 18.6 | 14.4] 19.6 | 21.6 0.0
283 22 43 56 31 76 52 3
Fithigt 100. 0 7.8 15.2 ] 19.8| 11.0]| 26.9| 18.4 1.1
240 23 28 39 47 49 51 3
Githisl 100. 0 9.6 | 1.7 16.3] 19.6 | 20.4] 21.3 1.3




3. B

(E&#=1,481)

25%
20.5% 1098
20% 192%
. 14.9%
’ 13.2%
12.0% 11.7%
10%
5% (i
2.7% 2.4% 9
= [ | B
0%
&= ~B | ~B| ~EB | ~E N ~% 2 R ~ &= o3
® EmE | Ef | EE | E/M % AYY)) -3 = =B ]
IT¥% | BE | B0 | 20 =] | 4 g & %
- ¥ & =3 N3 S 0 = S
HFE | F i | B % -] & E3
I~7‘: & . | & - 8 T % £
Elx | £ ‘| BHE JLE na
AZ > ER | £ AN =
20 | & #wo | 2o A &
- R | HE | GEE ~ L
Bk | R EH | EE® 1 LA
Bt | m | I2A | —A £ )
¥z | & T - 3
& | - = 57
==2]
= = ~
5
1-~
LB EISH &
TE:% ~
e 1,481 178 20 196 173 40 220 36 304 284 30
= 100.0 | 12.0 .4 13.2] 11.7 2.7 | 14.9 2.4 20.5] 19.2 2.0
171 15 2 31 19 3 34 6 27 26 3
Ahi 100. 0 8.8 L2 18.1] 111 4.7 ] 19.9 3.5 15.8 | 15.2 1.8
217 25 1 29 25 7 28 3 46 49 4
Bl 100.0 | 11.5 0.5 13.4 | 11.5 3.2 ] 12.9 1.4 21.2] 22.6 1.8
197 22 3 24 19 4 36 5 46 35 3
Cirsel 100.0 | 11.2 1.5 | 12.2 9.6 2.0 | 18.3 2.5 | 23.4] 17.8 1.5
276 24 5 36 41 3 37 4 65 50 6
Dzl 100. 0 8.7 1.8| 13.0] 14.9 2.9 | 13.4 1.4 23.6 ] 18.1 2.2
97 13 1 13 12 3 12 1 24 15 3
Edthig 100.0 | 13.4 .o| 13.4] 12.4 3.1 ] 12.4 1.0 | 24.7] 15.5 3.1
—— 283 45 4 38 29 5 42 7 53 53 7
100.0 | 15.9 1.4 13.4] 10.2 1.8 | 14.8 2.5 18.7| 18.7 2.5
— 240 34 4 25 28 5 31 10 43 56 4
100.0 | 14.2 .7] 10.4] 11.7 2.1 12.9 4.2 1 17.9 | 23.3 1.7




4. RIEER

(E&#=1,481)

60%

51.1%

50%
40%
30% 26.8%
20%
13.0%
10%
5.1% .
o7 1.2%
o =
& ~H x ~Z | ~= z i
& —5 b Hig | At D =]
A it D ER | R i %
= & Fit | Bt
5 E®d | &F
L 3 7]
- i L
E F
- E
3
f-~
o
LEX:[EIE%
TEX:%
&5t 1, 481 192 397 757 76 41 18
= A 100. 0 13.0 26. 8 51.1 5.1 2.8 1.2
171 19 47 92 11 0 2
Atz 100. 0 11.1 27.5 53. 8 6.4 0.0 1.2
217 22 58 116 6 10 5
Bithizl 100. 0 10. 1 26. 7 53.5 2.8 4.6 2.3
197 13 57 111 9 5 2
Cithizk 100. 0 6.6 28.9 56. 3 4.6 2.5 1.0
276 29 77 145 15 8 2
Dt sl 100. 0 10.5 27.9 52.5 5.4 2.9 0.7
97 7 24 59 3 4 0
Edth iz 100. 0 7.2 24. 7 60. 8 3.1 4.1 0.0
283 60 79 119 14 8 3
Fithizd 100. 0 21.2 27.9 42. 0 4.9 2.8 1.1
240 42 55 115 18 6 4
Githigk 100. 0 17.5 22.9 47.9 7.5 2.5 1.7




5. KR
[EZ$H=1,481]

70%

60% 58.3%

50%

40%

30% |

20.1%

0, I
20% 14.8%

10% |

1.8% 1.2%

E
I
]

0%

&= — — ~# | ~# z 3
& =] =] < [a] 7 [E] (1)) [l
# # UiE | ith &
T T E | =
T T ac| bT
¥ & VE | B
5 E3 Bh | ER
b3 ERXR | -
LB EE#H =
TE:%
ozt 1, 481 864 56 219 298 26 18
=8 100.0 | 58.3 3.8 14.8 | 20.1 1.8 1.2
171 119 3 28 21 0 0
Althig 100.0 | 69.6 1.8 | 16.4] 12.3 0.0 0.0
217 153 7 22 26 5 4
Bl 100.0 | 70.5 3.2 10.1] 12.0 2.3 1.8
197 108 3 25 55 4 2
Cibisl 100.0 | 54.8 1.5 12.7] 27.9 2.0 1.0
276 147 14 44 64 3 4
Dt szl 100.0 | 53.3 51| 15.9 | 23.2 1.1 1.4
97 62 3 11 19 2 0
bzl 100.0 | 63.9 3.1 11.3 ] 19.6 2.1 0.0
283 129 14 70 63 3 4
Fitbisl 100.0 | 45.6 4.9 2471 22.3 1.1 1.4
240 146 12 19 50 9 4
Githisl 100.0 | 60.8 5.0 7.9 | 20.8 3.8 1.7




6. BESEH
[EE%=1, 481]

0,
60% 56.0%
50%
40%
30%
20% 17.9%
12.0%
10% 5.4% 6.1%
2.0% 0.7%
- 1 1 5 1 2 3 =
1% F F & 0 0 0 E
*x § § = 3 & &
it 5 1 § § LA
3 0 2 3 £
R 3 0 0
. it R = 3
L EIEH it R R
T % s s
a5t 1,481 30 80 90 177 265 829 10
— " 100. 0 2.0 5.4 6.1 | 12.0] 17.9 | 56.0 0.7
171 1 6 8 22 40 94 0
At 100. 0 0.6 3.5 4.7 1 12.9 1 23.4 | 55.0 0.0
217 2 10 7 17 39 140 2
Bt 100. 0 0.9 4.6 3.2 7.8 18.0 | 64.5 0.9
197 5 15 13 37 37 88 2
i 100. 0 2.5 7.6 6.6 | 18.8 | 18.8 | 44.7 1.0
276 5 11 21 38 39 161 1
DIt 100. 0 1.8 4.0 7.6 | 13.8 ] 14.1 | 58.3 0.4
97 3 7 7 8 20 52 0
Bl 100. 0 3.1 7.2 7.2 8.3 1 20.6 | 53.6 0.0
283 9 19 19 29 47 157 3
Fibist 100. 0 3.2 6.7 6.7 1 10.2 | 16.6 | 55.5 1.1
240 5 12 15 26 43 137 2
GHbi 100. 0 2.1 5.0 6.3 1 10.8 | 17.9 | 57.1 0.8




